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	The Islands of Flowers consists of four islands: Island of Roses, Island of Dandelions, Island of Lilies, and Island of Sunflowers.
	The Island of Roses is 9 miles long (3 inches on my flipchart), this is also the diameter. The measures of the pathways on this island are also on as the radii. The length of each radius is 4.5 miles (or 1.5 inches) because each pathway comes from the main house, the center. The chords (radii) are PR, RO, PE, PS, and PI and the measures are all equal. The angle measures of the island are RPO is equal to 40 degrees because a fourth of a circle is equal to 90 degrees and the OPS is the is 50 degrees. So, if you subtract 50 from 90 it gets you the measure of angle RPO. The measure of OPS is 50 degrees because the arc OS is 50 degrees and due to that the angle is a central angle that make the angle measure 50 degrees. Lastly, angle EPS is 70 degrees because its arc is 70 degrees and is because it is a central angle. The sector area is 0.99 of angle OPS (50/360 X Pi X 1.5(to the second power) and the arc length 1.31 (50/360 x 2 x Pi x 1.5). The island has three bridges, two tangent bridges and one secant bridge. 
	The Island of Lilies is 2 miles long (2 inches long), this is also the diameter. The measures of the pathways (radii) are 1 mile long because the pathways come from the main house, the center. The chords (radii), BI, BR, BP, BO, BE, BS, BL are all equal. The angle measures of the island are, PBO is 70 degrees because the arc PO is 70 degrees, and PBO is a central angle. Angle OBS is 110 degrees because they are in a half of a circle that is equal to 180 degrees. Subtract 70 from 180 and that equals the measure of OBS, 110 degrees. Lastly, RBP is 50 degrees because arc RP is 50 degrees and RBP is a central angle. The sector area of angle OBS is 3.84 (110/360 x Pi x 2 (to the second power) and the arc length is 3.89 (110/360 x Pi x 2 x 2).  The island has three bridges, they are all tangent bridges. 
	The Island 5 miles long (2.5 inches), this is also the diameter. The measures of the pathways (radii) are (2.5 miles) 1.2 inches. The chords (radii) GF, GL, GO, GW, GE, and GR are equal because the all come from the main house, center.  The angle measures are, angle LGO is 20 degrees because angle FGL is 70. A fourth of an circle is 90 degrees, so 90 – 70 is 20. The angle measure of RGE is 90 degrees because it is a fourth of a circle. Lastly the RGF is also 90 degrees because of the same thing. The sector area of RGE is 1.13 (90/360 x Pi x 1.2(to the second power) and the arc length is 1.88 (90/360 x Pi x 2 x 1.5). The island has three bridges, three tangent bridges. 
	The Island of Dandelions is 6 miles long (3 inches), the diameter. The measures of the pathways (radii) are (3 miles) 1.5 inches. The chords (radii) SA, SN, SD,SE, SL, and SP are all equal because they all come from the main house, center. The angle measures are, angle ESD is 90 degrees because it is a fourth of a circle. Angle ESL is 50 degrees because arc EL is 50 degrees and ESL is a central angle. Lastly, DSN is 20 degrees because NSA is 70 degrees and they are in a fourth of a circle. Subtract 70 from 90 and get the measure of DSN. The sector area of DSN is 0.39 (20/360 x Pi x 1.5 (to the second power) and the arc length is 0.47 (20/360 x Pi x 2 x 1.5). The island has three bridges, and they are all tangent bridges.
	These islands have a lot of history. The flower they are named after are where those flowers originated. These islands are the largest “gardens” is the world and they all happen to be near each other. It is weird, right?  The Island of Sunflowers is the largest sunflower seed contributor in the world. The Island of Roses is very popular around Valentine’s Day and wedding season like the Island of Lilies. The Island of Dandelions is a site to see when the wind hasn’t blown them all away. You can also see these sights with just a trip from the coast of Virginia. For more information, visit www.islandofflowers.com. These islands are a sight to see, can’t wait to see you!
